
vfFbjf/L gu/kflnsf sfof{no 
;+v'jf ;ef  

j8f:tl/o of]hgfx? 

j8f g+= ! 
cg';"lr @ b'O{ 

 
cf=j= )&@÷)&# 

qm=;+ of]hgfsf] gfd j8f g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 xl:k6naf6 b]pk'h] wf/f shfg] af6f] dd{t . 1 %)))) 
b'/;Grf/ 
6f]n   

2 lxdfno p=df=lj= r]gu]6 lgdf{0f .   %)))) 
lxdflj 
6f]n   

3 
lxdflj 6f]njf6 c?0f a?0f xfO{lehg xn x'b} d'n ;8s hfg] 
9n Joj:yfkg .   %)))) 

lxdflj 
6f]n 

 
4 9f]nafh]af6 u}l/s'jf hfg] af6f] lgdf{0f .   %)))) 

9]fnafh] 
6f]n   

5 6'l8v]n dGr b]vL db/NoG8 hfg] af6f] lgdf{0f .   %)))) 
6'l8v]n 
6f]n   

6 /fhs'nf]af6] 89f/] hfg] af6f] dd{t .   %)))) 
89ff/] 
6f]n   

7 kf7swf/f dd{t tyf ;8s jlQ Joa:yfkg .   %)))) 
kf7swf/f 
6f]n   

8 vf]/G8]jf6 9+0f]gL hfg] jf6f] dd{t .   %)))) 
vf]/08] 
6f]n   

  hDdf 400000     

      
j8f g+= @ 

   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 Psn lzz'' :oxf/ s]Gb| 38]/L lgdf{0f÷ ;Dofpg] sfo{ ug{ .   80000     

2 gs{6{] df]6/af6f] lgdf{0f ,-;fksf]6fsf] 3/b]vL gs{6] vf]N;L;Dd _    80000     

3 
l;js'df/ sfsL{sf] 3/dflyb]lv dnfdL kfl6 ;Dd hfg] df]6/jf6f] 
lgdf{0f .   60000   

  

4 a/fnufpm b]lv vf]/Lof x'b} r]jfa]zL ;Dd hfg] df]6/jf6f] lgdf{0f .   80000     

5 
dlxnf ;Ghfn dlxnf ;;lQms/0f tyf cfo cfh{g sfo{ ;Grfng 
ug{ .   50000   

  



6 bzd'/] t];]{ vf]nf cf]emf ufFp l;rfO{ of]hgf dd{t ;+ef/  .   50000     

  hDdf 400000     

     
 

     
 

j8f g+= # 
   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 vfg]kfgL Aoj:yfkg  3 350000     

2 d+unfb]lj cu/jlQ l;Gs]w'k k|jw{g sf nflu 3 50000     

  hDdf 400000     

 
          

j8f g+= $ 
   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 kf+df ;fd'bflos ;]jf s]Gb| (:Jf/] v]nd}bfg) sf] hUuf vl/b  4 200000 u{/Lkf+df   

2 dfg]eGHfofË nfn axfb'/ u'?Ësf 3/b]lv e't] lr;f] kfgL x 4 200000 nf]s]kf+df   

  hDdf 400000     

      j8f g+= % 
   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 3f]N6] wf/f vfg]kfgL dd{t   50000     

2 hfnkf b]jLyfg vfg]kfgL 6\ofªsL lgdf{0f   50000     

3 ;'g8f8f vfg]kfgL dd{t   50000     

4 wd{b]jL lty{ :yn kf6L lgdf{0f    50000     

5 dsfn' a?0f a'4 u'Daf ef}lts ;'wf/   50000     

6 afnaflnsf k|flj zf}rfno dd{t tyf klx/f] /f]syfd   100000     

7 sf/jf/L vfg]kfgL dd{t    50000     

  hDdf 400000     



      

 j8f g+= ^ 
   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 
vfF g kf  # lr;fkfgL b]lv ;=df= lj= x'Fb} u'?ËufpF,n]n'jf,nK;] 
yfn]8fF8f df]6/af6f] :t/j[l4 6 200000     

2 ltgsGof 6f]ndf ljh'nL lj:tf/ 6 150000     

3 ;/:jlt dflj dfN6fdf sDKo'6/ lzIffsf nflu sDKo'6/ vl/b 6 50000     
  hDdf  400000     

      
j8f g+= & 

   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 
b'AnL rf}tf/f b]lv k'/fgf] uf lj ; x'b} sN5]j];L ;Dd hf]8\g] 
df]6/af6f] 7 300000     

2 ;/:jftL df lj  nfO{ sDKo"6/ v/Lb 7 50000     

3 dfN6f vf]nf wfkLgL x'Fb} ; df lj ;Dd hf]8\g] uf]/]6f]af6f] dd{t 7 50000     

  hDdf 400000     

            

 
j8f g+= *          

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

! ;fud 6f]=lj=;= jf6 nK;] ;Dd df]6/ jf6f] 6|ofs cf]kg ug]{   100000 
nK;] 
6f]=lj=;=   

@ 

tNnf] lxu'jf 6f]n jf6 dxfgGb rf]s x'b} kf+7f vf]nf bf]efg ;Dd 
;8s jf6f] lgdf{0f .   100000 

tNnf] 
lxu'jf 
6f]n   

# 

lvk|LË 6f]nsf nflu sN5] kfv] x''b} 8'd|] jf6 df]6/ jf6f]  6|ofs 
cf]kg ug]{]   150000 

lvk|LË 
6f]n   

$ of]uL 8fF8f jf6 le/ ufFp ;Dd df]6/ jf6f] lgdf{0f .   50000 
le/ ufFp 
6f]n   

  hDdf   400000     



j8f g+= ( 
   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 
s6x/] vf]N;L b]lv jv]{ 8f8f ;Dd hfg] df]6/af6f] dd{t tyf 
lgdf{0f   175000     

2 tNnf] kf+7f hnhn] dod hf]8\g] df[6/af6f] dd{t tyf lgdf{0f   125000     

3 /fDr] lxu'jf kf+7f ulxl/ jf/L df]6/af6f] dd{t tyf lgdf{0f sfO{   100000     

  hDdf 400000     

      
j8f g+= !) 

   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 k|]d axfb'/ /fO{sf] 3/5]pb]lv /fDr] j]n8fF8f;Dd uf]/]6f] af6f] dd{t  !) !))))).–     

2 jfË]ufpF /fhs'nf]b]lv d'n xfO{j];Dd cfpg] af6f] dd{t   %)))).–     

3 a'9fyf]sL wf/f hfg] af6f] ;f]lnË   %)))).–     

4 s}hn]wf/f O{G6]s dd{t   %)))).–     

5 zdf{wf/f -/fDr]_ dd{t   %)))).–     

6 lt/lt/] wf/f dd{t -l;Dn]_   %)))).–     

7 u'kmf s'jf dd{t -lrNn] rf}tf/f_   %)))).–     

  hDdf M 400000     

      
j8f g+= !! 

   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 
d'lvof wf/f ljB't ckmL; af6 j?0f SofDk; ;Dd hf]8\g] 
df]6/af6f] lgdf{0f  11 150000     

2 
cfbz{ df lj kf7s ufpF jf6 wd{ uf}nLsf] 3/ ;Dd 7f8f] af6f] 
dd{t  11 50000     

3 vlq wf/f dd{t  11 50000     

4 kfj{tL s'jf wf/f dd{t  11 50000     



5 kf08] l;d wf/f dd{t  11 50000     

6 sfnL kw]/f] wf/f dd{t  11 50000     

  hDdf M 400000     

      
j8f g+= !@ 

   

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

1 >L afu]]]Zj/L p df la kmlgr/ tyf sDKo'6/ vl/b sf] nfuL  12 1,00000     

2 >lL rGb|f]bo k|f aL v]n d}bfg lgdf{0f ug{sf] nfuL -afn anLsf_   50000     

3 
dgf]h >]i7 sf] 3/b]vL afu]Zj/L p df lj x'b} /fgL5fk hfg] af6f] 
dd{t   50000     

4 
lnnf dfof la s sf] 3/b]vL /fgL5fk lkkn 8f8f ;Ddsf] af6f] 
dd{t   50000     

5 z+s/ 9sfnsf] 3/ gLhs lkKn] kw]/f] hfg] af6f] dd{t   50000     

6 rfd] rf}tf/f af6 dgsfdgf af6f] dd{t   50000     

7 ;f7Ld"\'/] vfg]kfgL dd{t   50000     
  hDdf M 400000     

      j8f g+= !# 
   

      

qm=;+ of]hgfsf] gfd 
j8f 
g+= 

k|:tfljt 
ljlgof]lht 
/sd ? 

of]hgf 
;+rfng 

x'g] 
6f]=lj=;= s}lkmot  

! >L l;x]Zj/L lg df la af]x/f6f/ kvf{n lgdf{0f    130000     

@ af]x/f 6f]n sTn]6f]n dnfld kfl6 lgdf{0f    50000     

# 3f]K6]9'ªuf bfdfln6f]n dnfld kfl6 lgdf{0f   50000     

$ Po/kf]6{ kf]v/L /fwflsi0f dlGb/ kvf{n lgd0f{   50000     

% 

t'lDnª6f/ :jf:y rf}sL dlxnf :jf:y k|hgg  ;DalGw k|;'lt s]Gb| 
;'wf/ sfo{    70000     

  hDdf 400000     

 


